



Study on degenerate Stirling numbers

Dae San Kim¹, Taekyun Kim^{2,*}, Jongkyum Kwon^{3,*}

¹ Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

² Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

³ Department of Mathematics Education, Gyeongsang National University, Jinju 52828, Republic of Korea

Abstract. In this paper, we consider various Stirling numbers of both kinds, including the unsigned degenerate Stirling numbers of the first kind, the degenerate Stirling numbers of the second kind, the unsigned degenerate r -Stirling numbers of the first kind and the degenerate r -Stirling numbers of the second kind. The aim of this paper is by using generating functions to further study explicit expressions, some identities and equivalent relations for those Stirling numbers.

2020 Mathematics Subject Classifications: 11B73, 11B83

Key Words and Phrases: unsigned degenerate Stirling numbers of the first kind, unsigned degenerate r -Stirling numbers of the first kind, degenerate Stirling numbers of the second kind, degenerate r -Stirling numbers of the second kind

1. Introduction

The Stirling number of the second kind $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}$ enumerates the number of partitions of the set $[n] = \{1, 2, \dots, n\}$ into k nonempty disjoint subsets, while the unsigned Stirling number of the first kind $\left[\begin{matrix} n \\ k \end{matrix} \right]$ counts the number of permutations of the set $[n]$ having k disjoint cycles. Let r be a positive integer. Then the Stirling numbers of both kinds are generalized as follows. The r -Stirling number of the second kind $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}_r$ enumerates the number of partitions of the set $[n]$ into k nonempty disjoint subsets in such a way that $1, 2, \dots, r$ are in distinct subsets, while the unsigned r -Stirling number of the first kind $\left[\begin{matrix} n \\ k \end{matrix} \right]_r$ counts the number of permutations of the set $[n]$ having k disjoint cycles in such a way that $1, 2, \dots, r$ are in distinct cycles.

Carlitz initiated an investigation of degenerate versions of some special numbers and polynomials. Indeed, in [5] he studied degenerate versions of Bernoulli and Euler polynomials, namely the degenerate Bernoulli and degenerate Euler polynomials. In recent years, this exploration for degenerate versions have regained interests of some mathematicians and a lot of interesting results on degenerate versions of many special polynomials and numbers were obtained during the

*Corresponding author.

*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v17i1.5011>

Email addresses: dskim@sogang.ac.kr (D. S. Kim),
tkkim@kw.ac.kr (T. Kim), mathkjk26@gnu.ac.kr (J. Kwon)

course of this quest (see [12, 14, 15] and the references therein). For instance, the unsigned degenerate Stirling number of the first kind $\left[\begin{smallmatrix} n \\ k \end{smallmatrix} \right]_{\lambda}$ and the degenerate Stirling number of the second kind $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_{\lambda}$ are respectively degenerate versions of $\left[\begin{smallmatrix} n \\ k \end{smallmatrix} \right]$ and $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}$. Further, the unsigned degenerate r -Stirling number of the first kind $\left[\begin{smallmatrix} n \\ k \end{smallmatrix} \right]_{r,\lambda}$ and the degenerate r -Stirling number of the second kind $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_{r,\lambda}$ are respectively degenerate versions of $\left[\begin{smallmatrix} n \\ k \end{smallmatrix} \right]_r$ and $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_r$. These investigations about degenerate versions have been carried out by employing such diverse tools as generating functions, combinatorial methods, p -adic analysis, p -adic q -analysis, umbral calculus, probability theory, differential equations, analytic number theory, operator theory, and quantum mechanics.

The aim of this paper is by using generating functions to further study explicit expressions, some identities and equivalent relations for the aforementioned Stirling numbers of both kinds. The outline of this paper is as follows. In Section 1, we recall the degenerate exponentials and degenerate logarithms. We remind the reader of the unsigned Stirling numbers of the first kind and its generalization the unsigned r -Stirling numbers of the first kind, and the Stirling numbers of the second kind and its generalization the r -Stirling numbers of the second kind. Then we recall their degenerate versions, namely the unsigned degenerate Stirling numbers of the first kind and its generalization the unsigned degenerate r -Stirling numbers of the first kind, and the degenerate Stirling numbers of the second kind and its generalization the degenerate r -Stirling numbers of the second kind. Section 2 is the main result of this paper. We find an explicit expression for $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_{\lambda}$ as a finite sum involving $(l)_{n,\lambda}$ and an equivalent inverse relation expressing $(k)_{n,\lambda}$ in terms of $\left\{ \begin{smallmatrix} n \\ j \end{smallmatrix} \right\}_{\lambda}$ in Theorem 2.1. In Theorem 2.2, we express the finite sum $\sum_{k=1}^m (k)_{n,\lambda} H_k$ as a finite sum involving $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_{\lambda}$. Here H_k are the usual harmonic numbers. In Theorem 2.3, we find an explicit expression of $\left[\begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]_{r,\lambda}$ as a finite sum involving $\left[\begin{smallmatrix} n \\ l \end{smallmatrix} \right]_{\lambda}$. In Theorem 2.4, we derive finite sum identities involving the unsigned Stirling numbers of the first kind, the degenerate Stirling numbers of the second kind and the generalized falling factorials. An explicit expression for $\left\{ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right\}_{r,\lambda}$ is found as a finite sum involving $(l+r)_{n,\lambda}$, as a generalization of the corresponding result. Theorem 2.5 is a generalization of Theorem 2.1, while Theorem 2.6 is that of Theorems 2.2 and 2.4. For the rest of this section, we recall the facts that are needed throughout this paper.

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponentials are defined by

$$e_{\lambda}^x(t) = \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!}, \quad (\text{see [9, 10, 13, 16]}), \quad (1)$$

where the generalized falling factorials are given by

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda) \cdots (x-(n-1)\lambda), \quad (n \geq 1). \quad (2)$$

For $x = 1$, for brevity we write $e_{\lambda}(t) = e_{\lambda}^1(t) = \sum_{k=0}^{\infty} (1)_{k,\lambda} \frac{t^k}{k!}$.

As the compositional inverse of $e_{\lambda}(t)$, the degenerate logarithm is given by

$$\log_{\lambda}(t) = \frac{1}{\lambda}(t^{\lambda} - 1), \quad (\text{see [10]}). \quad (3)$$

Note that $\lim_{\lambda \rightarrow 0} \log_{\lambda}(t) = \log t$.

For $n \geq 0$, the unsigned Stirling numbers of the first kind are defined by

$$\langle x \rangle_n = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix} x^k, \quad (\text{see [1, 3, 4, 8, 17, 18]}), \quad (4)$$

where the rising factorials are given by

$$\langle x \rangle_0 = 1, \quad \langle x \rangle_n = x(x+1) \cdots (x+n-1), \quad (n \geq 1).$$

The Stirling numbers of the second kind are given by

$$x^n = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\} (x)_k, \quad (n \geq 0), \quad (\text{see [2, 6, 7]}), \quad (5)$$

where the falling factorials are given by

$$(x)_0 = 1, \quad (x)_n = x(x-1) \cdots (x-n+1), \quad (n \geq 1).$$

For $n, r \geq 0$, the unsigned r -Stirling numbers of the first kind are defined by

$$\langle x+r \rangle_n = \sum_{k=0}^n \begin{bmatrix} n+r \\ k+r \end{bmatrix}_r x^k, \quad (\text{see [11, 12, 14]}). \quad (6)$$

The r -Stirling numbers of the second kind are defined by

$$(x+r)^n = \sum_{k=0}^n \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_r (x)_k, \quad (\text{see [12, 14]}). \quad (7)$$

For any $\lambda \in \mathbb{R}$, the unsigned degenerate Stirling numbers of the first kind are defined by

$$\langle x \rangle_n = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \langle x \rangle_{k,\lambda}, \quad (n \geq 0), \quad (\text{see [10, 14, 15]}), \quad (8)$$

where the generalized rising factorials are given by

$$\langle x \rangle_{0,\lambda} = 1 \quad \langle x \rangle_{n,\lambda} = x(x+\lambda) \cdots (x+(n-1)\lambda), \quad (n \geq 1).$$

In view of (5), the degenerate Stirling numbers of the second kind are defined by

$$(x)_{n,\lambda} = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda (x)_k, \quad (\text{see [10]}). \quad (9)$$

For $n, r \geq 0$, the unsigned degenerate r -Stirling numbers of the first kind are given by

$$\langle x+r \rangle_n = \sum_{k=0}^n \begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda} \langle x \rangle_{k,\lambda} \quad (n \geq 0), \quad (\text{see [11, 13--15]}). \quad (10)$$

In [14], the degenerate r -Stirling numbers of the second kind are defined by

$$(x+r)_{n,\lambda} = \sum_{k=0}^n \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} (x)_k, \quad (n \geq 0). \quad (11)$$

2. Some formulas for degenerate Stirling numbers

For (9), we note that

$$\frac{1}{k!} (e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [10, 14]}). \tag{12}$$

By (12), we get

$$\sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l)_{n,\lambda} = k! \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda, \quad (n, k \geq 0). \tag{13}$$

Theorem 1. For any nonnegative integers n, k , we have

$$k! \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda = \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (j)_{n,\lambda} \iff (k)_{n,\lambda} = \sum_{j=0}^k \binom{k}{j} j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_\lambda. \tag{14}$$

Proof. (\implies) Assume that

$$k! \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda = \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (j)_{n,\lambda}.$$

Then we have

$$\begin{aligned} \sum_{j=0}^k \binom{k}{j} j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_\lambda &= \sum_{j=0}^k \binom{k}{j} \sum_{l=0}^j \binom{j}{l} (-1)^{j-l} (l)_{n,\lambda} \\ &= \sum_{l=0}^k (l)_{n,\lambda} \sum_{j=l}^k \binom{k}{j} \binom{j}{l} (-1)^{j-l} \\ &= \sum_{l=0}^k (l)_{n,\lambda} \binom{k}{l} \sum_{j=0}^{k-l} (-1)^{k-l-j} \binom{k-l}{j} \\ &= \sum_{l=0}^k (l)_{n,\lambda} \binom{k}{l} (1-1)^{k-l} = (k)_{n,\lambda}. \end{aligned}$$

(\impliedby) Suppose that

$$(k)_{n,\lambda} = \sum_{j=0}^k \binom{k}{j} j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_\lambda.$$

Then we have

$$\begin{aligned} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (j)_{n,\lambda} &= \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \sum_{l=0}^j \binom{j}{l} l! \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_\lambda \\ &= \sum_{l=0}^k l! \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_\lambda \sum_{j=l}^k \binom{k}{j} \binom{j}{l} (-1)^{k-j} \end{aligned}$$

$$\begin{aligned}
&= \sum_{l=0}^k l! \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_{\lambda} \binom{k}{l} \sum_{j=0}^{k-l} (-1)^{k-l-j} \binom{k-l}{j} \\
&= \sum_{l=0}^k \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_{\lambda} \binom{k}{l} l! (1-1)^{k-l} = k! \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda}.
\end{aligned}$$

The harmonic numbers are defined by

$$H_0 = 0, \quad H_k = 1 + \frac{1}{2} + \frac{1}{3} + \cdots + \frac{1}{k}, \quad (k \in \mathbb{N}). \quad (15)$$

Theorem 2. For $n, m \in \mathbb{N}$, we have

$$\sum_{k=1}^m (k)_{n,\lambda} H_k = \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \binom{m+1}{j+1} \left(H_{m+1} - \frac{1}{j+1} \right).$$

Proof. From Theorem 2.1 and noting that $\left\{ \begin{matrix} n \\ 0 \end{matrix} \right\}_{\lambda} = 0$, for $n \geq 1$, we see that

$$\begin{aligned}
\sum_{k=1}^m (k)_{n,\lambda} H_k &= \sum_{k=1}^m H_k \sum_{j=1}^k \binom{k}{j} j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \\
&= \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \sum_{k=j}^m H_k \binom{k}{j}.
\end{aligned} \quad (16)$$

The forward difference operator Δ is defined by $\Delta f(x) = f(x+1) - f(x)$. From the definition of the forward difference operator, we get

$$f(x) \Delta g(x) = \Delta (f(x)g(x)) - (\Delta f(x))g(x+1). \quad (17)$$

Thus, by (17), we get

$$\begin{aligned}
\sum_{k=0}^{m-1} f(k) (\Delta g(k)) &= \sum_{k=0}^{m-1} \Delta (f(k)g(k)) - \sum_{k=0}^{m-1} (\Delta f(k))g(k+1) \\
&= \sum_{k=0}^{m-1} (f(k+1)g(k+1) - f(k)g(k)) - \sum_{k=0}^{m-1} (\Delta f(k))g(k+1) \\
&= f(m)g(m) - f(0)g(0) - \sum_{k=0}^{m-1} (\Delta f(k))g(k+1).
\end{aligned} \quad (18)$$

Let $f(k) = H_k$ and $g(k) = \binom{k}{j+1}$. Then we have

$$\begin{aligned}
\Delta g(k) &= g(k+1) - g(k) = \binom{k+1}{j+1} - \binom{k}{j+1} = \binom{k}{j}, \\
\Delta f(x) &= f(k+1) - f(k) = H_{k+1} - H_k = \frac{1}{k+1}.
\end{aligned} \quad (19)$$

From (18) and (19), we note taht

$$\begin{aligned} \sum_{k=0}^{m-1} \binom{k}{j} H_k &= \sum_{k=0}^{m-1} (\Delta g(k)) f(k) = f(m)g(m) - \sum_{k=0}^{m-1} (\Delta f(k))g(k+1) \\ &= H_m \binom{m}{j+1} - \sum_{k=0}^{m-1} \frac{1}{k+1} \binom{k+1}{j+1} = H_m \binom{m}{j+1} - \frac{1}{j+1} \sum_{k=0}^{m-1} \binom{k}{j} \\ &= H_m \binom{m}{j+1} - \frac{1}{j+1} \sum_{k=0}^{m-1} \left[\binom{k+1}{j+1} - \binom{k}{j+1} \right] \\ &= H_m \binom{m}{j+1} - \frac{1}{j+1} \binom{m}{j+1} = \binom{m}{j+1} \left(H_m - \frac{1}{j+1} \right). \end{aligned} \tag{20}$$

Thus, by (16) and (20), we get

$$\sum_{k=1}^m (k)_{n,\lambda} H_k = \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_\lambda \sum_{k=j}^m H_k \binom{k}{j} = \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_\lambda \binom{m+1}{j+1} \left(H_{m+1} - \frac{1}{j+1} \right).$$

From (10), we note that

$$\begin{aligned} \left(\frac{1}{1-t} \right)^r \left(\frac{1}{1-t} \right)^x &= \sum_{n=0}^{\infty} \langle x+r \rangle_n \frac{t^n}{n!} = \sum_{n=0}^{\infty} \sum_{k=0}^n \begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda} \langle x \rangle_{k,\lambda} \frac{t^n}{n!} \\ &= \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} \begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda} \frac{t^n}{n!} \right) \langle x \rangle_{k,\lambda}. \end{aligned} \tag{21}$$

On the other hand, by (1) and (3), we get

$$\begin{aligned} \left(\frac{1}{1-t} \right)^r \left(\frac{1}{1-t} \right)^x &= e_{-\lambda}^{-x} (\log_{\lambda}(1-t)) \left(\frac{1}{1-t} \right)^r = \sum_{k=0}^{\infty} \frac{(-\log_{\lambda}(1-t))^k}{k!} \left(\frac{1}{1-t} \right)^r \langle x \rangle_{k,\lambda} \\ &= \sum_{k=0}^{\infty} \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \left(\frac{1}{1-t} \right)^r \langle x \rangle_{k,\lambda}. \end{aligned} \tag{22}$$

By (21) and (22), we get

$$\frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \left(\frac{1}{1-t} \right)^r = \sum_{n=k}^{\infty} \begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda} \frac{t^n}{n!}, \quad (k \geq 0). \tag{23}$$

From (8) or (23), we see that

$$\frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k = \sum_{n=k}^{\infty} \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \frac{t^n}{n!}. \tag{24}$$

Theorem 3. For any nonnegative integers n, k , we have

$$\begin{bmatrix} n+1 \\ k+1 \end{bmatrix}_{1,\lambda} = \sum_{l=k}^n \binom{l}{k} \begin{bmatrix} n \\ l \end{bmatrix}_\lambda \langle 1 \rangle_{l-k,\lambda}.$$

In general, for $r \geq 0$, we have

$$\left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} = \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle r \rangle_{l-k,\lambda}.$$

Proof. From (23), we note that

$$\frac{1}{1-t} \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k = \sum_{n=k}^{\infty} \left[\begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{1,\lambda} \frac{t^n}{n!}. \tag{25}$$

On the other hand, by (3) and (24), we get

$$\begin{aligned} \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \frac{1}{1-t} &= \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \sum_{l=0}^{\infty} \frac{\langle 1 \rangle_{k,\lambda}}{l!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^l \tag{26} \\ &= \sum_{l=0}^{\infty} \frac{\langle 1 \rangle_{l,\lambda} (k+l)!}{l!k!} \frac{1}{(k+l)!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^{k+l} = \sum_{l=0}^{\infty} \frac{\langle 1 \rangle_{k,\lambda} (k+l)!}{k!l!} \sum_{n=k+l}^{\infty} \left[\begin{matrix} n \\ k+l \end{matrix} \right]_{\lambda} \frac{t^n}{n!} \\ &= \sum_{l=0}^{\infty} \binom{k+l}{k} \langle 1 \rangle_{l,\lambda} \sum_{n=k+l}^{\infty} \left[\begin{matrix} n \\ k+l \end{matrix} \right]_{\lambda} \frac{t^n}{n!} = \sum_{l=k}^{\infty} \binom{l}{k} \langle 1 \rangle_{l-k,\lambda} \sum_{n=l}^{\infty} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle 1 \rangle_{l-k,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

Thus, by (25) and (26), we get

$$\left[\begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{\lambda} = \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle 1 \rangle_{l-k,\lambda}. \tag{27}$$

More generally, for any $r \geq 0$, we have

$$\begin{aligned} \sum_{n=k}^{\infty} \left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} \frac{t^n}{n!} &= e_{\lambda}^{-r} (\log_{\lambda}(1-t)) \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \tag{28} \\ &= \sum_{l=0}^{\infty} \langle r \rangle_{l,\lambda} \frac{1}{l!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^l \frac{1}{k!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^k \\ &= \sum_{l=0}^{\infty} \langle r \rangle_{l,\lambda} \binom{k+l}{l} \frac{1}{(k+l)!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^{k+l} \\ &= \sum_{l=k}^{\infty} \langle r \rangle_{l-k,\lambda} \binom{l}{k} \frac{1}{l!} \left(\log_{-\lambda} \left(\frac{1}{1-t} \right) \right)^l \\ &= \sum_{l=k}^{\infty} \langle r \rangle_{l-k,\lambda} \binom{l}{k} \sum_{n=l}^{\infty} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left(\sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle r \rangle_{l-k,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

By comparing the coefficients on both sides of (28), we get

$$\left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} = \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle r \rangle_{l-k,\lambda}, \quad (n, k \geq 0).$$

Note that

$$\left[\begin{matrix} n+1 \\ k+1 \end{matrix} \right]_1 = \lim_{\lambda \rightarrow 0} \left[\begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{1,\lambda} = \lim_{\lambda \rightarrow 0} \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right]_{\lambda} \langle 1 \rangle_{l-k,\lambda} = \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right],$$

and

$$\left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_r = \lim_{\lambda \rightarrow 0} \left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} = \sum_{l=k}^n \binom{l}{k} \left[\begin{matrix} n \\ l \end{matrix} \right] r^{l-k}.$$

Theorem 4. For $n, m \in \mathbb{N}$, we have

$$\sum_{k=1}^m \left[\begin{matrix} m \\ k \end{matrix} \right] (k)_{n,\lambda} = \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \left[\begin{matrix} m+1 \\ j+1 \end{matrix} \right]_1.$$

Proof. By (14), we get

$$\sum_{k=1}^m \left[\begin{matrix} m \\ k \end{matrix} \right] (k)_{n,\lambda} = \sum_{k=1}^m \left[\begin{matrix} m \\ k \end{matrix} \right] \sum_{j=1}^k \binom{k}{j} j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \tag{29}$$

$$= \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \sum_{k=j}^m \binom{k}{j} \left[\begin{matrix} m \\ k \end{matrix} \right] = \sum_{j=1}^m j! \left\{ \begin{matrix} n \\ j \end{matrix} \right\}_{\lambda} \left[\begin{matrix} m+1 \\ j+1 \end{matrix} \right]_1. \tag{30}$$

From (11), we note that

$$\frac{1}{k!} (e_{\lambda}(t) - 1)^k e_{\lambda}^r(t) = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!}, \quad (k, r \geq 0). \tag{31}$$

By (31), we get

$$\begin{aligned} \sum_{n=k}^{\infty} \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!} &= \frac{1}{k!} (e_{\lambda}(t) - 1)^k e_{\lambda}^r(t) = \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} e_{\lambda}^{l+r}(t) \\ &= \sum_{n=0}^{\infty} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l+r)_{n,\lambda} \frac{t^n}{n!}. \end{aligned} \tag{32}$$

Thus, by comparing the coefficients on both sides of (32), we get

$$k! \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} = \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l+r)_{n,\lambda}, \quad (n \geq k). \tag{33}$$

Theorem 5. For $n, r \geq 0$, we have

$$k! \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} = \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l+r)_{n,\lambda} \iff (k+r)_{n,\lambda} = \sum_{l=0}^k \binom{k}{l} l! \left\{ \begin{matrix} n+r \\ l+r \end{matrix} \right\}_{r,\lambda}.$$

Proof. This can be shown just as the proof of Theorem 2.1.

Theorem 6. For $n, m \in \mathbb{N}$, we have

$$\sum_{k=1}^m (k+r)_{n,\lambda} H_k = \sum_{j=1}^m j! \left\{ \begin{matrix} n+r \\ j+r \end{matrix} \right\}_{r,\lambda} \binom{m+1}{j+1} \left(H_{m+1} - \frac{1}{j+1} \right),$$

and

$$\sum_{k=1}^m \begin{bmatrix} m \\ k \end{bmatrix} (k+r)_{n,\lambda} = \sum_{j=1}^m j! \left\{ \begin{matrix} n+r \\ j+r \end{matrix} \right\}_{r,\lambda} \begin{bmatrix} m+1 \\ j+1 \end{bmatrix}_1.$$

Proof. By using (33), this can be proved just as the proofs of Theorem 2.2 and Theorem 2.4. The details are left to the reader.

3. Conclusion

Various degenerate Stirling numbers of both kinds appear very frequently when we study degenerate versions of many special numbers and polynomials. In this paper, we investigated several degenerate Stirling numbers like the unsigned degenerate Stirling numbers of the first kind, the degenerate Stirling numbers of the second kind, the unsigned degenerate r -Stirling numbers of the first kind and the degenerate r -Stirling numbers of the second kind. We found some identities, explicit expressions and some equivalent relations among them. It is one of our future projects to continue to explore degenerate versions of some special numbers and polynomials and their applications to statistics, physics, science, engineering, and social sciences as well as to mathematics.

References

- [1] MS Aydin, M Acikgoz, and S Araci. A new construction on the degenerate hurwitz-zeta function associated with certain applications. In *Proceedings of the Jangjeon Mathematical Society*, volume 25, pages 195–203, 2022.
- [2] KHADIDJA BOUBELLOUTA, ALI BOUSSAYOUD, SERKAN ARACI, and MOHAMED KERADA. Some theorems on generating functions and their applications. *Advanced Studies in Contemporary Mathematics*, 30(3):307–324, 2020.
- [3] Khristo N Boyadzhiev. Power sum identities with generalized stirling numbers. *arXiv preprint arXiv:0909.1852*, 2009.
- [4] Paul L Butzer, Anatoly A Kilbas, and Juan J Trujillo. Stirling functions of the second kind in the setting of difference and fractional calculus. 2003.
- [5] L Catlitz. Degenerate stirling, bernoulli and eulerian numbers. *Util. Math*, 15:51–88, 1979.
- [6] Louis Comtet. *Advanced Combinatorics: The art of finite and infinite expansions*. Springer Science & Business Media, 1974.

- [7] Ronald L Graham, Donald E Knuth, Oren Patashnik, and Stanley Liu. Concrete mathematics: a foundation for computer science. *Computers in Physics*, 3(5):106–107, 1989.
- [8] DAMLA GUN and Yilmaz Simsek. Combinatorial sums involving stirling, fubini, bernoulli numbers and approximate values of catalan numbers. *Advanced Studies in Contemporary Mathematics*, 30(4):505–515, 2020.
- [9] Dae san Kim et al. Stirling numbers associated with sequences of polynomials. *arXiv preprint arXiv:2202.11306*, 2022.
- [10] DS Kim and T Kim. A note on a new type of degenerate bernoulli numbers. *Russian Journal of Mathematical Physics*, 27:227–235, 2020.
- [11] DS Kim and TK Kim. Normal ordering associated with-whitney numbers of the first kind in-shift algebra. *Russian Journal of Mathematical Physics*, 30(3):310–319, 2023.
- [12] Taekyun Kim and Dae san Kim. Some identities involving degenerate r-stirling numbers. *arXiv preprint arXiv:2202.08421*, 2022.
- [13] Taekyun Kim and Dae San Kim. Some identities on degenerate-stirling numbers via boson operators. *Russian Journal of Mathematical Physics*, 29(4):508–517, 2022.
- [14] Taekyun Kim, Dae San Kim, Hyunseok Lee, and Jin-Woo Park. A note on degenerate r-stirling numbers. *Journal of Inequalities and Applications*, 2020:1–12, 2020.
- [15] Taekyun Kim and Dae San Kim. Combinatorial identities involving degenerate harmonic and hyperharmonic numbers. *Advances in Applied Mathematics*, 148:102535, 2023.
- [16] TK Kim and Dae San Kim. Some identities involving degenerate stirling numbers associated with several degenerate polynomials and numbers. *Russian Journal of Mathematical Physics*, 30(1):62–75, 2023.
- [17] YILMAZ SIMSEK. Construction of generalized leibnitz type numbers and their properties. *Advanced Studies in Contemporary Mathematics*, 31(3):311–323, 2021.
- [18] Michael Z Spivey. Combinatorial sums and finite differences. *Discrete Mathematics*, 307(24):3130–3146, 2007.